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A. f(x)

(x + 3)

= loga

f(x)

4-24+3 D, f(x)=loga(x—3) E
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f

4% -3 B.f(x)=logsx+3 C.
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Learning Target 2

Cut up these cards and disperse them to students.
The first to student say the bottom statement will also be the last one to have an answer.

Who has log; 16?

2%

e
| have -2. | have 3

5 ﬁ

Who has log; 8? 1 |

Who has logs |

- 3 3 4 *

ﬁ a
| have -3. | have 2.

Who has log,32?

>

| have 5.

Who has logs 6257

/1

| have 4.

Who has log,; 277

|

| have 1.

Who has log, 128?

-

| have 7.

Who has log 6.5?

0.91°5

| have 0.813.

Who has log ] ?
1111 :

| have -1.




*

—

B S S ———
—————

| have 1.209.

Who has log; 64?

(€

S e T ———

| have 6.

Who has |Og3 -64?

o)

| have “no solution”.

Who has logz1?

| have 0.

Who has the expanded form of

X
O loge—?
00 - 5
X —
o Logy, 4
| have logs x - logs 5. | have 3logsy.

Who has the expanded form of

Who has the expanded form of

logs y3? log; 12x? |
%M@@ Lj Qﬂaq[l*'g’aj’lx '
T

| have log; 12 + logy x. | have 3% = 81.

Who has the exponential form
of the equation

Who has the logarithmic form |

of the equation
7° = 3437

| have log; 343 = 3.

Who has the logarithmic form
of the equation

3 -

L09,34% ig

| have log, (—1-) = 2.
2 4

Who has logys 55?

245

3 4
J&o%ﬁ“?—



" \r—

| have 1.245.

Who has log;7 2?

ey — —

| have 0.245.

Who has the logarithmic form

| | of the equation 82=——?
: 0.259 Loge ‘L”tf : -264
l — — s _L . __JH
| 1 | have log 16y.
| have logs — = -2, & 10y
64 |
Who has the condensed form of
Who has the condensed form of 3log 5 - 7 '05 y? ﬂ
2log 4 +log y? Q%[@ >
i J Log g |
| have log 1?_;5; :
y ! | | have —log x.

Who has the expanded form of

2 ) Iog%(??

| LXponent

o

' Who has the last word of the statement
“A logarithm is an 172

| have “exponent”.

Who has the value of x for the equation

| have 427.

Who has the value of x for the equation

j 16 |

3x = 39277 | Logis x = log,3 45?
} | have 45. | have -4.
u 1 1
[ Who has log,—? Who has logs

o) 25 °

s




Putt,mg it, All

Together!

EXPANDING LOGS

———

CONDENSING LOGS

T e ——— T
R T —

LDlrechons Rewnfe as a single Iogorl’fhm Simplify if possible.

— i - —~~— —~—

19. 2.log 6 - log9

)20 4. Iog4a+2 Iog4

e’

J

F

| 22. log2 15+Iogz4 log, 6
J |6L" r— ,L,O
g, 5 @

— e —
——, — S —
e

e

———

23. Iog3 q + |og3 y+ % . log3 49

l

= —

24. - log5 8+1095 27) - logs 3

——

il

25. 3 log, 4 - log, 32

g, 4 =0, 7 (1)

26. 2.log 6—% log 16 + log 3

e

1
Directions: Expond each logarithm.

27. log, xyz

— e o ———

op o) = iy, 22057




Target 3: Finding Inverses M@SW L@u

Write the inverse of each function showing all proper steps.

. Jlx) =leg,(x— 3) 2 f(x) =3* +5




Learning Target 4
Solve each equation.

Lt 14’{()(’ \“'3)( A) '“-,»“‘“l;
X HoxtU=0

| i)=0 O 2 _
7) log, (x+5) +log, x=log. 50 Cx,’]7 ~4 8) log, 9 log 3x=2 Q/Dg‘; %’?’

B) i-io% o 1%,,:
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Condense each expmsﬁwn to a single logarithm.
11y R2log, x+2log, ¥
A) log, (}*zx(‘)

£
X
C) 'Og g 5

}J

o w




Masier .,

Target 5: Applications of Exponentials and Logarithms
Write an equation and show your work to solve each word problem.

ul ‘-‘Nt | A
A =P(1+5i v=a(l+r)" y=a(l—r)" y = Pg™

. 7

1. Your parents invested $2800 in a saving account on the day you were born.
a. The account yields 4.7% interest compounded monthly. How much money will be in the account after

? 16 years? ‘2 ) \(p)
g A= |+ )1 =
?

b. What would the amount be if the interest had been compounded continuously at the same rate for
the same period of time?

2. In 1990 the population of Winnemucca, Nevada, was 6,191. The population continued to grow by 4% every

year.
a. Write a function to model this information.

W= b1 (T+on® [y=619) (1.0-)™
MOLH

c. Assuming this rate of increase continued, what was the population in Winnemucca in 20107

1990~ X=O
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3. During normal breathing, about 12% of the air in the lungs is replaced z
a. Write an exponential decay model for the amount of thqoriginal air Ieft the lungs if the initial

amount of air in the lungs is 500 mL.
9::- 6%61"‘. lZ)K i 600(86)?(
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b. How much of the original air is present after 240 breaths?
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